7000 GeV pp NSD
‘_I|: L L L Y I N L L LY L L L B B L B B B I
E 10° — Charged Particle P Spectrum (NSD, |n| = 0.6 - 0.8) =
= Z _|
o - —
U — p—
c
S L _
ZO
o 10 = E
1= —
- = CMS :
| —a— Pythia 8.209 default _
— —— Pythia 8.209 default-noFsr —
| —— Pythia 8.209 default-noRap _
107! = -
L, [y | | | [y | | P [ | | [y | | [ &
e e
2 & =
%) B Bl
= - _
O B M —
e 1 = — &2
ko) - .
o - ?K//A/‘—_W |
04
0.5 _|
......... T T T T [ T T T T A T T TN S

Rivet 3.1.0, = 7.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


